w2 ¥g AT Y (2

@ -7

/ @/;znugw‘

77;ﬁ£\1‘ ! ]"Lﬁ‘v\ /\?yﬁfi\‘, 3’£19:\,

¢ —13

| .\ s
A Offf\’\ 772531 : 27’\;&

@ /061.'0(/ 4&:5,(5{

(;;@/@ ¢
IR

if‘/?

7 45"'!-,, It & ¢
3 M
- Sa 4 Fe

<
G (4ol ) (a 657
i

= 4 "\éxggf Q AN}K

- .

(1, Qox (~25D

@ &- 7
%@ﬁ,ﬂ%ﬂ'

@~z‘?¢h,,{

ruatn
(1, (5'7(2» px 1 !’f} ._ix)

e

71 - f)\

UN—

GIC U Tx-29)

"3/%4;,?,

/”"— e A

A 7eb oLl (-2
) @

. 32 le




Z7L

/ -a+ &
. be-4pt4(-ar0

- / o (A
,)\/('}7'/{(*:*’2) <§*§‘2 e (7)7\':?/!’({:% é?

) G, &
= 3‘1"‘%4\%{ . @ \gxbg\
- 3x("27 J
_ 4 . - 3r3 " o
- . -9
- —
(‘71‘1»"; d-5at?
3./ ‘?ﬂ"ﬁ'q} ~'S‘ ’ I\
3‘(4‘2 \’\xwg}f 2> :ﬁg‘x (P,m/
T
91 :pﬂ__g_n
@yt s G =,




B e S RS
X s lu ] 7 ] i
- A k :Z:f:/

%; 4 +
('7) o J /A -
o Al L/{J (F)  _ zba4c
[z 0 Sy L
e .
j i ng,v Ta - 3p-4C 27
Ir =25 ¢ ]
] 98 ij& h4c = T ML
r 4¢ = Ta-3b J#k
- .
- o2 j.,(gr-
%u) It 2% Y -0 4) (22-3%: -3 ~q
7c->q-—/0 ---Q@ f}x'éqzziw@
Q+@ &) 2 bLQUAA  @r3-@r2 37 v - -3 C01ATA
32 4 2% = UF /8424~ 1Y J(’éx:‘f‘;}z;/o 9x+ 9+-3
+) x —2¢=1° 24 ¥ X b 0o == 9 = — 12
ze -2 v -2 473 2> 76
26 (7 x4
1472 v--3



>
()= xelo - O

i

1‘4: /6 -y - @)

Qe = TN 2-7 1 QrerXN

(J/‘([{{; Gl22-7)-3 @
(z»#i} - ¢ -

ORI a ~on-35-5

c
7(,—%/0:/5’-.31/ (é:/c"’flo la." /07(,"39 @
2 5 e |
o In= 05 SR’ 6 + @A
- & | 45
e . , ’ A 4,?)( fon ~38)= - ¥
=z (5Bl @ b
¢ a7 A % - Yox 4152
R q-15 -2 ~ 394 = - (56
L ig 60 5
T I e x - Y
- . ab oKl
s i 2247 Q) reaiA
%: 420 /59
(7{)§O~3%¢ 0.29+ ) 1- 2 {Z"f
1 2 .2
| F 51 @ e
A B c
OPRCRY @) aeg - bxrY =12
Ix + 3’%{' 6, “'é) A=C,r\x'f?""/2“'®
G ety Bt(,fgk-f‘az’lz“‘@
- - O-@DF Q:OLG)\T'{T:/\
o ?‘3"’{"* ”‘@ 'xw&:—lQ 04»?‘»1'1
@-@¢r GO Jymdy s TR gl
3w 0% b m-bb aw s 0 Gug
T\ T3aom g s D - 12 a =0 Y2
iﬂl,/ %:S/ <



1’, Vs,
& (7) A5

(4) 3(2?\'1%) e 3 x (:3!/\«5})‘ If’%?{x %’}i %

251 TH
%Z in @)ldi}f(/\/\

(244 13 1avnie B3k ods 25300k
??ﬁ /)\67 B, P g ‘?’)’”gf 27%\3;{‘2,{;"%;0 &7 @t’&[[f LA

{/"\f\-’r

A @@

7 & \ (%16n2%% )- (B)25%) X(ﬁf?)# R ) ]

3) A3 SRR ML) S o5
A= 5m~+3

U) B 582 b flgoncR) e 475
B gn+ ¢

o, A1B T 5ZFN-TFE2

A%B:(Wv"’y*(gm’r%) (

s 7 S Testive
" I B4 by kv
- g‘ma.él/\ -1 5 + 2 AT B!

_slmant 1) T2
//—_——__—:ﬁ é\\

2
J

~~

3,2 ]Zf}l@ mant | /XT\Q 7 7
=

o



? (7) (&11 51

f -7 mﬁ/ﬁm\'%-—Z Aed
b?(—@éf: 5 \_/
| A
Contb=r0 @
izb»& - & @
@) 47
’;ﬂ\»4}b ‘—é'" \\_@
@ +@x2 & L. 4% OnftA
Qﬁwb =/0 920 + Y4 =149
J()’M\*‘szlo 200 6
520 A= 3
b ¥ Qs 3
. kk o/
& 37+ 244 9
axt 44 = & “ﬁ%\‘/x 3d=1] -G Tc%‘]‘:@'ég‘

0 LO £ %2 ﬁm?zﬂ CAEGIT B

/
Or31@r2dy A= 2LOETA =2, {=-1 r@ A

nt69: (2 b+29=Y zg\ﬁl,t:c«rS”
L Rt g 206 51Y

/‘77L\ - 3 4 'W/ j;jM/



, a
Sy 360
/ T4
r:—ﬁ% J“M?
-
“)
: al
/%&:r 0" #Ffa
l shor Qe ae Bl pRor bormRE
T T L - &
’ Recs) (4
A
106 @ ko246 3% - 1S
« . b
FCHie. 1,38, - 174D
4 ] )
IC - r sy LaD ) v RECIAL Bt L
4J ] B 380kt Do BRI
re -
2o jx}?&l a:j.@,f
3651 - 4 ) A 6
. .
/Al = 360 ;]’\ﬁ‘é&x, gl = 360 T Jj(’cf)
= 0 3 o
ser I AP < bax
0\ = ““‘:(ZL“" ( I e ——
A 378 tﬁﬁqaﬂf

L r izectsie gk
1,0 B o M5 0oty s -
(%%t fGakr b 20558 . ogy

——




/0 @

AR 2rr

7) %af%’\fw
m“%ﬁi = (7/\*3) m

fiw - G013

= AL 61 ()

(1) 3‘@@@’}@@? ,(7;,@ =27 )

Iw — Ao = gnr+ém - 200
.

IR

(%) /mf = (00T maed N TFnd
(7) & f\\ I3 ﬁﬂg} = foo7C TAT'A

21 + 6L = [oo [T
o - 4L

r= 47 m




AABG = TIAMECFG

! J
AABE -ABEG = aBCF -2BEG
(&)
AABE - & BCF Lund e
8((/0’6‘&)x';[ = /OX[DXE/‘



/

(77 Xt G2 O A Bl LT ee TEIBC

")y

(20&&1 1oy <1770
) @ire =Drtl 4
200+ U1Y =177

S R

—

0% -~ 45
9 = §

@ AL Fa TR

x - yz@(?’ﬁ/\

g1g=r2
17
2.6 A« BB SR, 7o (BB
{‘3’7 V16 VR <0 2

A 12 58 e 71




